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GEOGRAPHY - MINOR
Paper : MN-2

(I{uman Geography)

Full Marks : 75

Candidates are required to give their answers in their own words
asfar as practicable.
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[English Version]

The figures in the margin indicate full marks.

CategorY - A

Answer sny ten questions (each within 50 words)

1. What is optimum population?

2. Write any two characteristics of age-sex pyramid.

3. What is site?

4. Define 'hamlet'.
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5. State any two characteristics of Toda tribes.

6. Write a short note on Demographic dividend.

7. What is meant by zero population grorvth?

8. State any trvo factors responsible for the slow growth rate of population in India.

9. Define population explosion.

10. What is over population?

11. Define density of population.

12. Give the census definition of urban settlements in India.

13. What is dispersed settlement?

14. What do you understand by industrial society?

Category - B

Answer uny Jive questions (each within 125 words) 5x5

15. Identify the major characteristics ol subsistence farming rvith special reference to India.

16, Give an account of traditional livelihood pattern of the Gond tribe.

17. Explain the importance of courtyard in Indian homes.

18. What are the characteristics of post-industrial urban society'?

19. Write a short note on the scope of Human Geography.

20. Discuss briefly the size-class classification of urban settlements after Census of India.

21. Discuss the merits and demerits of the Dernoglaphic Transition model.

Category - C

Ansller any lwo questions (each within 500 n'ords)

22. What is Human Geography? Discuss the recent trends in Human Geography. 3+12

23. Give a reasoned account of the traditional livelihood pattem of the Chenchu tribe. State the problems
faced by them. 10+5

24. Critically discuss the phases of Demographic Transition rnodel. 15

25. Explain the physical and cultural factors influencing rural settlement types. 15


